oUM
S s, NORTH DUM DUM MUNICIPALITY
o ﬁ% 163, M.B.ROAD, BIRATI, KOLKATA - 700051
% E PHONE: (033) 2514 - 2101 /2514 - 2494, FAX - (033) 2514 - 2990
- v Website: http://www.northdumdummunicipality.org
RSTD: 1af8 E-mail 1D: nddmboc(“bsnl in

Memo No:NDDM/WW/2 51| ~ Date:)7/06/2019

Tender Notice

Sealed Tenders are invited from reliable, resourcefull Manufacturers, Dealers
or Suppliers for supplying Tubewell, Tapline Tools & Plants Maintanance
materials to be purchased for the year of 2019-2020.

Assumption of Required Maintanance Materials(01/04/2019-
30/03/2020)

(A) TAPLINE MAINTENANCE MATERIALS
a2l NAME OF ;AT“’E“rilALs C sunip | REQUIRED
o S Ol ) Qry
B . o
1 | BIB COCK %" (CI) e | Egch 50.00
2 | BIBCOCKPVC ' “"Each | 300.00
3 | BEND 3/4" (HB) Each’ | 100.00
4 | BEND %" (HB) g | | Fach | 100.00
5 |ELBOWX%"(HB) . Each | 350.00
6 | ELBOW 1" (HB) Each | 50.00
7 | ELBOW %" (HB) Fach | 300.00
8 | G.LPIPE 3/4" Mtr | 300.00
9 | G.LPIPEX" Mtr | 300.00
| 10 | LONG SCREW (3/4" X 6") (HB) (SET) Each | 300.00
11 | LONG SCREW (14" X 6") (HB) (SET) Fach | 150.00
12 | POLYTHENE PIPE 3/4" (IS)) Mtr | 500.00
13 | POLYTHENE PIPE %" (IS) Mtr | 50000
Sy 14 | POLYTHENE PIPE 1" (ISI) Mir | 30000
15 | POLYTHENE PIPE (1% X 10') (40 STOMISI) | Each | 200.00
] 16 | PLUG 3/4" (HEAVY) Each | 10000 | [
3 =l Chairme

Marth NDum Dum Municipality




::) NAME OF MATERIALS UNIT REC:;'\':EE
17 | PLUG %" (HEAVY) Each | 200.00
18 | PLUG 3/8" (HEAVY) Fach | 200.00
19 | REDUCING ELBOW (3/4" X %4") (HB) Each | 400.00
20 | REDUCING SOCKET (1" X 1%4") (J.I) Each | 100.00
21 | REDUCING SOCKET (3/4" X %") (HB) Each | 400.00
22 | G.L.SOCKET 3/4" Each | 500.00
23 | G.L.SOCKET %" Each | 500.00
24 | G.LSHORT PIECE (3/4" X 4") Each | 50.00
25 | G.I.SHORT PIECE (%" X 6") Fach | 100.00
26 | G.LSHORT PIECE (3/4" X 6") Fach | 100.00
27 | G.I.SHORT PIECE (%" SZ”’A"%) * | Each 50.00
28 | UNION3/a" " “|vEach | 100.00
29 | UNION %" N ‘E'achg’ 100.00
30 | SHORT PIECE (%! X 20") Each | 100.00
31 | SHORT PIECE (%" X 18") Each | 50.00
32 | SHORTPIECE (4'X 24") - Each' | 100.00
33 | SHORT PIECE“(%" X 30") “Bach | 100.00
34 | SHORTPIECE (%"x 36" -~ 1 ' | each | s0.00
35 | BOOSH (3/8" X %") Each | 50.00
(B) TUBEWELL MAINTENANCE MATERIALS

:(L) NAME OF MATERIALS UNIT RE%‘;'\':ED
1 | HAND PUMP BODY (6 NO/C.B) Each | 50.00
2 | HAND PUMP HANDLE (C.B) Each | 150.00
3 | HAND PUMP HEAD COVER (C.B) Fach | 50.00
4 | PISTON ROD (%" X 18") (HEAVY) Each | 100.00
5 | ROD SOCKET (%" X 4") (HEAVY) Fach | 400.00
6 | RUBBER WASHER (SMALL HOLE) Dozen | 500.00




S(L) NAME OF MATERIALS UNIT RE%‘#'SED
7 | SOCKET (1" X 4") Each | 300.00
8 | SPRING (COPPER) Dozen | 240.00
9 | SHEET/CHECK VALVE 234" (LEATHER) Dozen | 100.00
10 | SHORT PIECE (4" X 1%") Each | 100.00
11 | WEIGHT VALVE 24" Dozen | 100.00
12 | G.LBUCKET (12 NO) Each | 150.00
13 | ZINC OXIDE Kg 30.00
14 | G.IL.SHORT PIECE 3" DIA (1-0' LONG) Each | 10.00
15 | G.L.SHORT PIECE 3" DIA (1-6' LONG) Fach | 10.00
16 | LEAD wWoOL Ke | 300.00
17 | PICKAXE i Fach | 30.00
18 |PICKAXEHANDLE . of ? Each | 100.00
19 | SPADE Fach, | 50.00
20 | SPADE HANDLE Each | 150.00
21 | PIG LEAD 99.999 PIRITY kg’ | 500.00
22 | BUCKET® = Each' | 100.00
23 | CYLINDER (BRASS COATED /C.B2%") “gach | 50.00
24 | POLYTHENE WASHER 254" Each | 50.00

2 PLUNGER SET (C.1) 24" Each | 50.00
(C) OFFICE BUILDING MAINTENANCE MATERIALS

s; NAME OF MATERIALS UNIT REQQwED
1 | BALL VALVE (PVC) 2" Each | 10.00
2 | BALL VALVE (PVC) %" Each | 12.00
3 | BALL VALVE (PVC) 1" Fach | 12.00
4 | BALLVALVE (PVC) 12" Each | 12.00
5 | BALL VALVE (BRASS) 1%" Each |  6.00
6 | BALL VALVE (BRASS) 1" Fach |  6.00
7 |MTAL" Fach | 24.00

:
T4
Chain

Alarth Nim N

r




(|

'::') NAME OF MATERIALS UNIT RE%’T’;‘ED
8 | MTA3/4" Fach | 24.00
9 | MTA %" (PVC) Fach | 30.00
10 | CONNECTOR PIPE 20" Each | 12.00
11 | CONNECTOR PIPE 18" Each | 12.00
12 | CONNECTOR PIPE 24" Fach | 12.00
13 | INNER VALVE (HEAVY) (HB) Dozen | 24.00
14 | INNER VALVE (LIGHT) Dozen | 36.00
15 | FTA1" Each | 12.00
16 | FTA3/4" Each 12.00
17 | FTA%" (PVC) Each | 18.00
18 | BRASS TEE (PVC) %" R Fach | 20.00
10 | BRASS ELBOW %" ‘| ‘ach | 20.00
20 | PUSH PIPE 1" (ORIPLAST-SUPREME) Mtr., | 30.00
21 | PUSH PIPE %"(ORIPLAST-SUPREME) Y Mtr | 50.00
22 | PUSH PIPE 3/4" (ORIPLAST SUPREME) Mtr | 50.00
23 | SOLVENT CEMENT 705 Ltr 4.00
24 | TEE (PVC) 10 “Each | 2000
25 | TEE (PVC) %" e =% g | each | 2000
26 | TEE (PVC) 3/4" Each | 20.00
27 | ELBOW 1" (PVC) Fach | 20.00
28 | ELBOW %" (PVC) Each | 20.00
29 | ELBOW 3/4" (PVC) Fach | 20.00
30 | ANGULAR STOP COCK (PVC) Each | 36.00
31 | SINK WEST (1SI) Fach | 6.00
32 | PUSH TYPE BIB COCK Each | 20.00
33 | UNION (PVC) 1" Fach | 10.00

| 34 | UNION (PVC) 125" Each | 10.00

35 | UNION (PVC) 14" Each | 10.00




— —_—

ke NAME OFmaTERS |y | REQUIRED
36 | M.S. CLUMP 1" Kg 5.00
37 | M.S. CLUMP %" Kg 5.00
38 | M.S. CLUMP %" Kg 5.00
39 | CHINA cLUMP 1" Each 50.00
40 | CHINA CLUMP %" Each 50.00
41 | CHINA CLUMP %" Each 50.00
42 | PILLAR COCK (PVC) Each 12.00
43 | BASIN WEST (ISI) Each 6.00

(D) TOOLS MATERIALS

—

S(L) NAME OF MATERIALS UNIT RE%‘;"':ED
1 | SCREW DRIVER 8" © [ Each | 12.00
2| SCREW DRIVER 10", v | Each | 12.00
3 | PLER(10") , . Each™ 6.00
4 | WRACHETTHOKAR %" (CODE NO= | Each ¢ 4.00
5 WRACHE-’%THOKA‘F‘{ %" W dasi 1 Each, |  4.00
6 | TAP DRILL%" “Each 12.00
7 | TAPDRILL 3/8" I . | Each | 2000
8 | THOKAR 1" (EAGLE) Each 10.00
9 | THOKAR %" (EAGLE) Each 10.00
10 | THOKAR %" (EAGLE) Each 18.00
11 | RATCHET DIE SET (COMPLETE SET) 3" Each 1.00
12 | GATCH DRILL (COMPLETE SET) 220 Each 1.00
13 | WELDING ROD (FULL SET) (0.6-0.8) MM Box 20.00
14 | SMALL CUTTING WHEAL (3 MM THICK) Each 50.00
15 | SMALL CUTTING WHEAL (6 MM THICK) Each 75.00
16 | SMALL CUTTING WHEAL (12 MM THICK) Each | 100.00
17 | PAINT (WHITE) ' Ltr 50.00
ﬁs PAINT (BLACK) [ Ltr 100.00

]




;; NAME OF MATERIALS UNIT RE%‘i’fED
19 | PAINT (BLUE) Ltr 100.00
20 | PAINT (SMOKE-GREY) Ltr 100.00
21 | RED OXIDE Ltr 200.00
22 | TARPIN OIL Ltr 300.00
23 | GREASE Kg 10.00
(E) ALL TYPES OF NUTS

;; NAME OF MATERIALS UNIT RE%‘;'\'}ED
1 | NUTBOLT (FULL THREAD) (%" X 1%") Kg 200.00

2 | NUT BOLT (FULL THREAD) (%" X 2") Kg 100.00
3 | NUT BOLT (FULL THREAD) (35" X 4°) Kg 400.00
4 | NUT BOLT (FULL THREAD) (35" X 5"), Kg 200.00

5 | NUTBOLT (F—‘fULL&?TI-‘IREHAD) (1" X 6") Kg 100.00

6 | NUT BOLT (Fqu THREAD) '(Vlg X 8%) 1t Kg 50.00

7 | NUT BOLT (FULL THREAD) (5/8" X 2/4") Kg. 100.00

8 | NUT BOLT(FULL THREAD) (5/8" X 3") Kg, | 200.00

9 | NUTBOLT(FULL THREAD) (5/8" X 4% | wkg | 50.00
10 | NUT BOLT (HALF THREAD) (5/8" X 6") Kg 100.00
11 | NUT BOLT (HALF THREAD) (5/8" X 8") Kg 100.00
12 | NUT BOLT (FULL THREAD) (3/4" X 3") Kg 100.00
13 | NUT BOLT (HALF THREAD) (3/4" X 4") Kg 100.00 a
14 | NUT BOLT (FULL THREAD) (1" X 3") Kg 100.00
15 | NUT BOLT (HALF THREAD) (1" X 4") Kg 100.00
16 | NUT BOLT (HALF THREAD) (%" X 2%") Kg 100.00
17 | NUT BOLT (HALF THREAD) (%" X 3%4") Kg 100.00
18 | NUT BOLT (HALF THREAD) (3/8" X 1%") Kg 150.00
19 | NUT BOLT (HALF THREAD) (3/8" X 2") Kg 100.00
20 | NUT BOLT (HALF THREAD) (3/8" X 2%4") Kg 100.00

&G




,3:) NAME OF MATERIALS UNIT RE%‘;'\':ED
= (l\:;u; (B}SIL;' 1\//2\{'I)TH WASHER (FULL THREAD) - 10,00
’2 ;\!GUI'I)' (Ef;L; mTH WASHER (FULL THREAD) = _—
23 | NUT BOLT (FULL THREAD) (G.I) (%" X 1%4") Kg 10.00
24 | TEE NUT BOLT (HALF THREAD) (15" X 2%") Kg 10.00
25 | TEE NUT BOLT (HALF THREAD) (4" X 3") Kg 100.00
26 | TEE NUT BOLT (HALF THREAD) (5/8" X 3") Kg 100.00
27 | TEE NUT BOLT (HALF THREAD) (5/8" X 4") Kg 50.00
28 | GLAND PACKING 12 MM Kg 15.00
29 | GLAND PACKING 15 MM Ke 15.00
30 | GLAND PACKING 20 MM A Ke 15.00
31 | GLAND PACKING 25 M M ke 15.00
32 | SPRING WASHER 1" o I§g 5.00
33 | SPRING WASHER %" ke | 500
34 | SPRING WASHER 3/8" ’ K. | 5.00
35 | SPRING WASHER 5/8" Kg 5.00
36 | GASKET Xg | 10000
37 | RUBBER SHEET (3 MM THICKNESS) # U Kg 100.00
28 fs)ggl—:sv/:f '\;\FEIEE)I\(ISTXB;)L)T (FULLTHREAD) (AS | .

Date of receipt of application: 25/06/2019

Last date of selling Tender paper: 26/06/2019 upto 3 P.M.
Last date of receiving Tender paper: 27/06/2019 upto 3 P.M.
Date of opening Tender: 27/06/2019 at 4 P.M.

S0 LYE D

Rates to be quoted both in words & figures and inclusive all charges.

Approximate cost of Materials supply: Rs. 4,90,000.00 ( Four lakh ninety

thousand

onl /
y) g N

Chairman
Marth Dum Dum Mut

o
fa1a%>1134Y}
1y




Earnest Money: Rs. 9,800.00 ( Rs. Nine thousand eight hundred only)

Bank Draft drawn on a Nationalized Bank in favour of the Chairman, North
Dum Dum Municipality.

Tender papers will be available from the Office of the undersi.gned on all
working days between 11 A.M. to 2 P.M.

Attested Xerox copy of G.S.T registration certificate and valid Return certificate
of the last quarter of the current financial year, Up to date Professional tax
clearance receipts, IT Pan card & Tax return receipts and Copy of Credential
should be enclosing along with the application in letter headed pad duly signed
in. Letter head should contain full address, telephone no., mobile no., fax & e-
mail for collecting the Tender Paper.

Tender Paper Dropping: At the office of Executive officer chamber.

Time of completion of the works 7. (seven) days Wthh will be counted on &
from the date of issue of Work order “““

Approved rate is valid for lgone) year.

LA

A7

Municipal website & Dally News paper

The Authority reserves the right to .accept.or reject any or aII tender without
assiging any reasons whatsover

A

\

Chairman
North Dum Dum Municipality



